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1D pull distribution
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X2 / ndf
p0

52.64 /51
2.389 + 14.86

1D pull distribution

Mean  0.005811+# 0.1395
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Std Dev  1.006 + 0.09866

Underflow 0
Overflow 0
X2 / ndf 9.27716

Constant 8.712 + 2.463

Mean 0.1175 £ 0.2279

Sigma 1.081+ 0.318
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corr_us_dd_bpm12X (ppb) 1D pull distribution

= X2 / ndf 77.43 /51 1 Mean  -0.006839 + 0.1692
1000{— pOo —0.1427 + 32.52 i o

12~ J’ Std Dev 1.22 +0.1197

500 - : Underflow 0

: L l 10 Overflow 0

0} l lll L . -_[ I}llll I l I }I I X2/ ndf 837718
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corr_us_dd_bpm11X (ppb)
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pO

99.56 /51
-128.9 + 63.11

1D pull distribution

Mean -0.01365 +0.1919
Std Dev 1.384 £0.1357
Underflow 0
Overflow 0
X2 I ndf 1.737/9
Constant 7.347 £1.334
Mean 0.01503 + 0.23506

Sigma 1.504 +0.210
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51.32/51
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1D pull distribution

Mean -0.01163 +0.1377
Std Dev 0.9933 +0.0974
Underflow 0
Overflow 0
X2 I ndf 5.196/7
Constant 10.36 £ 2.28
Mean  0.009145 + 0.183115
Sigma 0.9743 £0.1770

| I
-2 0 2 4 6 8




pm4eX RMS (ppm)

corr_usl b

(wdd) sy

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



g &8 ° ° £ ¥ E B
= = @ 3 S
S =3 1%} H =] =}
+ e ~ 8 < + -
g o 4 8 2 .
g 8 Yo 8 ]
s 3 8 ° -]
s ? .
> m 3 - € -1
o £ o <] s © —
s a 5] = < 1] < £ ]
c g = E 2 iy 5 8 =)
(o) = 7] =} [e] =< o = (7] ]
e}
= —
@ ’ ]
.nm ]’ . —]
E =
o
o N
- -
v b by b b by v by by v by by v by
N o [e¢] © < N o [oe] © < N o
N N — — ~ — -
I
13
N 4
~ B —_——
~3
<
An+_
o
oM O
™
(c6}
i
|
Y—
©
c —_————
~
N O —_—
—~[>X< Q]
o)
Q.
(=B
~
>
[3)
£
Q.
o]
|
(%2}
5 —
a
e —_——
o
o
—i
———i
—_——
1 I I __________1_3l
o o ] o o DAL TNOLWO IO N
] B B S Jidoo'al
— | - | |



pm4eY RMS (ppm)

corr_usl b

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
p0'8YSY
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy

o o o o o o o o
(o] (e} N~ © Lo <t ™ N

(wdd) sny

o
—



1D pull distribution

o @ o o (3] «© < 0
3 3 P 2 3 3
3 s ® w 8 8
S 3 I + S 5
o o 3 - o
1%} b + -
+ + - H ~
H .
2 b S 3 3 i
2 2 g &
I < I P —]
3 S S
=] o -
? i
H =
> S 2 o £ -
7] € o k<] el © —
= a 54 T 2 @ S g
3 be] 2 2 I~ < 53 =3
= ] 5 [} < [} = » -
. -
Ly 1 1 L 1 L
0 o ) o [S)
3 34 =1 =

11.79 /51 {

6844

X2 / ndf

.55

30

+

0

pO

pm4aX (ppb)

corr_usl b




pm4aX RMS (ppm)

corr_usl b

(wdd) sny

£'6vSYy
p C6VSY
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy




o 2 o ) ~ < © <
< ] ° 3 3 8
I} ol < M g I3
o S : H S S
+ =] @ g e + —
© + S H < 1
8 3 S 8 g i
g 3 E
= S E
> m 3 - € -1
o £ o <] s © —
c g S S ] S 2 g E ]
o s B 5 S %« 8 2 & 3
2 ——
b= .
2 S——i —]
© L . -
=] | E—
o —
(@) ]
1 | I—
P IR T T B | | M BT
[ee] © < N o N o
— - — — —
I
—
o &
~
15
Hatel
[92]
5+_
(e))
<
™
<
Y—
©
c
~
NP =} ——
—~[>X< Q]
o)
Q.
(=B
~
>
©
E
Q.
o]
I_ ——
(%2}
5
a
S
o
o
—
——
———
_______________

1500
1000
500




pm4aY RMS (ppm)

corr_usl b

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
pOEVSY
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy

(wdd) sy



10000

g g ° ° =2 g g 8
pa g @ © 3 S
° S 2 0w 2 9
+H + © “ ° H -1
o < el H % -
2 2 z. 0 —
8 4 c o5 - ]
3 8 ]
? ? 7
H =
3 2 m k=1 m ©
cls & ¥ % ¥ oz 5 E
o s B 5 S %« 8 2 & e
= -
5 —
m -
b= .
2 ]
© -
=1 -
o —
o =
-
o b b b by b by by e by by o7
o ~ [Te) ™ o
[ —— —
— e ]
0 —le—— —
] ——— ]
0 ™ ] T
———— —
€+ — 3
%2 ——— —
. o — 1
[o9] ———— —
Lo
© ———— —
| —— —
—r— —
——] —
Y— — —
d —||.|. —
c —e—— _
~ —— —]
O ——— |
> Q| A ]
—~
3 T ]
—— —
Q — 4 _
~
< —— —
“ —r— —
——— -]
m —_— -
o — 3
b_ ——— —
g —— —
———— —
=)
—— —
r_ ——| -
=
o) — —
(&) ——— —]
—_—— —
H—— —
—_— —
—— —
——— —
—— —
——— —
—— —
—— —
—— —
——— —
———— —
——— —
———
— —
I ] _ 1111
o




pm1X RMS (ppm)

corr_usl b

_________
o o o o
<t AN o [e'0]
S 8 I o

(wdd) sy

]
o

36

340 —

320 —

300 —

280—

260—

240 —

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



1D pull distribution

+ 0.177

0.02631

Mean

1.276 +£0.1251

Std Dev

Underflow

Overflow

115/9

X2 / ndf

5.97 +1.38
0.02257 +0.25777
1.489 +0.307

Constant
Mean
Sigma

Olllll

84.73 /51 R

8.051

X2 / ndf

+ 32.56

pO

pm1Y (ppb)

corr_usl b

gt ey

1000

1000 —




pmlY RMS (ppm)

corr_usl b

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



6000

4000

2000

2000

4000

corr_usl_bpm16X (ppb)

X2 / ndf

58.21/51
-380.7 +181.4

1D pull distribution

Mean  -0.009895 + 0.1467
14 B Std Dev 1.058 +0.1037
r Underflow 0
12 Overflow 0
r X2 / ndf 5.864/7
101 Constant 8.182 + 1.668
I Mean  -0.09235 +0.22033
8 !
Sigma 1.293 + 0.244
6_
aF
2
0||||| il b il i
-8 -6 -4 -2 0 2 4 6 8




pm16X RMS (ppm)

corr_usl b

________________________________ ___________
o o o o (@] o o o o
o ® ~N © mn I o™ N o
— — — o - - — — o

(wdd) sy

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



corr_usl_bpm16Y (ppb) 1D pull distribution

X2 7 ndf 163.4 /51

— Mean 0.03072 +0.2458
o pO 19.43 £ 30.18 C
1000F— 8 Std Dev 1.772 +0.1738
— [ Underflow 0
- 7E
500 : Overflow 0
- X2/ ndf 8.606 /12
bl bl *F
| 1 1 -
0 T ]. l I I T T o Constant 4.607 +0.968
: T T 5 L — Mean 0.02637 + 0.41151
-500 }— N / Sigma 2.193 +0.457
: 4_
1000 — 3 [
2 —
1
L 1P 1 11 PV T E R R |

CJOO

6 4 2 0 2 4 6 8




pm16Y RMS (ppm)

corr_usl b

_______
o
T}

(wdd) sny

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



1D pull distribution

+0.1118

0.806 + 0.07904

—0.001771

Mean
Std Dev

3.408/6
14+29

Underflow
Overflow
X2 / ndf
Constant

0.01022 + 0.10968

Mean

0.7407 +0.1155

Sigma

A

LA

4
2
OIII

33.78 /51 R
+152.9

6.312

X2 / ndf
0

p

pm12X (ppb)

corr_usl b

”..TIl_lT________________

3000

o

2000
1000

1000

2000

3000

4000




pm12X RMS (ppm)

corr_usl b

(wdd) sy

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



1D pull distribution

+0.1539

-0.02434

Mean

+0.1088

1.109

Std Dev

Underflow

Overflow

5.997/7

X2 / ndf

9.716 + 2.067

Constant

-0.1178 + 0.1693

Mean

1.035 + 0.186

Sigma

0III|II

64.04 /51 R

42.55

X2 / ndf

41.25

+

pO

pm12Y (ppb)

corr_usl b

1000




pm12Y RMS (ppm)

corr_usl b

(wdd) sny

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



S = - 8 d
o o ha} + o
+H H © B + H =1
n wn : [Te) © -
& g © & « 1
g = s - -]
(=}
. 3 =z _
@ = S <] < ©
= o @ £ 2 ] H g
c i} el 2 2 ~ s o k=l
o = 4] =) o < () = n -1
= -
5 —
m =
=] .
R ]
© -
= .
o —
(@) =
i
| M| L L L L M T B R
] o ~ [S)
— =
I ——— —
— N~ ]
To .
~ ()] —_—— —
- [Te} —
N
© —eo—— —
- —_—— —
< — ]
n © . -
i — —+— —
< ————1 —
™ —— —
— —
—_——— —
— — —
© — —
< — — —
~ — ——— —
N O —_—— —
= < Q — e ]
[o% — —
o ———t— —
~— —_——t —
< ———— —
— ——— —
— —_— —
e —t———— —
o ———o——— —
o ———— —
—l — o1 ]
[72] ———— —
> —— —
i — e
S —
Q _
o

6000

4000

2000

6000

O TLOOLD
10”_u

- !

N



pm11X RMS (ppm)

corr_usl b

____
o
oS
N

(wdd) sy

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



2 g8 °© ° = g 3 g
8 g S
= = = N o et
° ° 2 + + °© i
+ + o o o +
0 b= @ 1] n -1
g I A Y |
S o o 3 1
¢ ° m
- & 3z . ¢ ]
@ < K] k=1 8 ]
= o 3 = 2 B H g
c i} = B 2 ~ s o) 2
|2 & 5 8 %« 8§ 2 &
= a
5 —
) -
= n
= -
R ]
© -
= -
p —
(@)
i
L 1 L 1 L 7
N o [ee] o
] =
I
— -
- N
~
O +
< w0
© N
N
(e}
|
Y—
©
c
~
N O
—~|>X
Qo
Q.
o
~
Y
—
—
Q.
Ko}
_
)]
5
a
=
o
o




pml1llY RMS (ppm)

corr_usl b

_________________ ___________._||

____
o To} o Te) o T} o o
< ™ ™ Y N — —

(wdd) sny

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



©o o o o o ©w 9o u
S ¢ 8 8
- o0
uoow = 8 £ &
© © g 4+ + 7]
o o o o -
= 2 g ¢ .
Tos 38 E
- & 3z . ¢ ]
2 T L2 T 8 © —]
s o & §T £ @ g ¢
c|l® = B2 ¢ 7 6§ & » 7]
|l & 5 &8 %« 48 = & E
= a
5 —
2 I
= ]
=
2 =
o ooy
= -
o —
(@) n
- -
PRI [T SR W T (NN SN TN TN TN NN SO ST SR S NN S S S S N S S T N
o o o o o o
o < [32) N —
I
— -
0O
-
o -
+
o
Y—
©
c
~
NP =}
<
—~|
Qo
Q.
o
N—r
X
£
Q.
Ko}
|
[2)
=)
a
=
o
(&)
_Il.l_l_l.l.l.lIT.l.l.l.l_l.l.l.l_.

50
0

100 —
-50
-100—



pm8X RMS (ppm)

corr_usl b

P E6VSY
p C6VSY
T 615y
p 0°'6VSY
p £'8VSY
p C'8YSY
p1 815y
p 0'81SY
pELYSY
pCLYSY
T LSy
p0'LVSY
p COvSY
T OVSY
P 0'9VSY
p ' SYSY
p £'GYSY
p C'SYSY
T S SY
p 0'SYSY
pEVISY
X424
T Sy
Johqze14
p v EVSY
pEEVSY
p CEVSY
T EVSY
pO'EVSY
P v CvS
pECYSY
pCCvsy
BT CvSy
p0'Cvst
pETVSY
pCTVSY
T TSy
p 0 TVSY
pE0VSY
p 2 OVSY
P 0vSY
p 0°'0vSt
p v'6ESHY
P E6ESY
p C'6ESY
1 6ESY
p 0'6ESY
p '8ESY
p £8ESY
P C'8ESY
p1'8ESY
p 0'8ESY

S d e d e ddddddddddddddddddddddddddddddddddddddiddd

(wdd) siny

0



____I.I.I_I.I.I.I_I.I.IT_I.I.II

o o©o o o o »vw o o
S ¢ 8 8
- o
uoow = 8 £ &
o o S  w o+ + ]
o o o o -
= 2 g ¢ .
I S -
- & 3 _ = ]
@ T 2 B & © —
WDe.nnmnnum
c|l® = B2 ¢ 7 6§ & » 7]
|l & 5 &8 %« 48 = & E
= .
5 —]
2 ee?
= 71
=1
R =
© Ty
= .
o —]
(@) n
— .
PR NN TN T T TN NN T SN S T N N SN ST S SN SN T N W | Loy
[=) o o o o [S)
fro) < ® « =
[
10
D N
~ 0
+
o
—
©
c
~
N O
< Q|
—
Qo
Q.
o
N
VI
g
Q.
Ko}
|
)]
=]
a
S
o
o

80
60
40

20
0

-20
-40
-60

-80F—




pm8Y RMS (ppm)

corr_usl b

P E6VSY
p C6VSY
T 615y
p 0°'6VSY
p £'8VSY
p C'8YSY
p1 815y
p 0'81SY
pELYSY
pCLYSY
T LSy
p0'LVSY
p COvSY
T OVSY
P 0'9VSY
p ' SYSY
p £'GYSY
p C'SYSY
T S SY
p 0'SYSY
pEVISY
X424
T Sy
Johqze14
p v EVSY
pEEVSY
p CEVSY
T EVSY
pO'EVSY
P v CvS
pECYSY
pCCvsy
BT CvSy
p0'Cvst
pETVSY
pCTVSY
T TSy
p 0 TVSY
pE0VSY
p 2 OVSY
P 0vSY
p 0°'0vSt
p v'6ESHY
P E6ESY
p C'6ESY
1 6ESY
p 0'6ESY
p '8ESY
p £8ESY
P C'8ESY
p1'8ESY
p 0'8ESY

S d e d e ddddddddddddddddddddddddddddddddddddddiddd

(wdd) siny

0



1D pull distribution

o8 © o o © 0 o °
g 3 = & 3§ B
3 2 N o 3 S
pu 8 g 4 3 S
o 3 ) hal
+ S 0 8 o H
Y > d b g
S 2 @ 3
S 15 2 3
3 & 5 S
s s s
=3
S
T
H =
> Kl z = g
o b= & g 8 ©
c a S = < 7 s g
3 ° o — c <
9 = £ = o~ =3 2 k=
= [ =) o > o = »
L L | L | |
< N o
- - —

36.51/51 R

X2 / ndf

261.9

+

481.9

pO

pm4eX (ppb)

corr_usr_b




pm4eX RMS (ppm)

corr_usr_b

_____
o
re}
N

(wdd) sy

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



1D pull distribution

-0.00695 + 0.1044

Mean

+0.07385

Std Dev  0.7531

Underflow

Overflow

5.149/5
14.65 + 3.68

X2 / ndf
Constant

-0.0287 + 0.1202

Mean

0.6867 + 0.1477

Sigma

lL

|

—

18-

OIII

<~ o~

29.5/51 R

X2 / ndf

+ 42.56

-11.26

pO

pm4eY (ppb)

corr_usr_b

1000




pm4eY RMS (ppm)

corr_usr_b

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T SSY
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy

(wdd) sny



—0.005183 + 0.0463
0.3339 +0.03274
3.566/2
31.51+7.23
0.001192 + 0.074633
0.3275 +0.0577

Mean

Std Dev
Underflow
Overflow
X2 / ndf
Constant
Mean
Sigma

|

1D pull distribution

14

30

+

5.799/51 R

22

-1

X2 / ndf

p

pm4aX (ppb)

corr_usr b

-400—




pm4aX RMS (ppm)

corr_usr_b

_________________________________
N O © © < N O w ©
N N A A 49 +d 4

(wdd) sny

<

N

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



1500

1000

500

-500

1000

1500

corr_usr_bpmd4aY (ppb)

- X2/ ndf 55.88 /51 }
5_ p0 18.11+ 63.45
NNANN H_H i
SR | l‘llll I

1D pull distribution

121~

101

Mean 0.006275 + 0.1437
Std Dev 1.037 + 0.1016
Underflow 0
Overflow 0
X2 / ndf 9.158/7
Constant 9.438 + 3.308
Mean 0.1371+ 0.2902
Sigma 0.9716 + 0.3203

-2 0 2




pm4aY RMS (ppm)

corr_usr_b

100—

(wdd) sy

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



corr_usr_bpm1X (ppb) 1D pull distribution

_ 2T ndf 33.35/51 |,
Mean -0.002217 +0.1111
3000 — po 162.9 + 124.9 F
: 14 B Std Dev 0.8009 + 0.07853
2000 - B Underflow 0
12 Overflow 0
1000 B
] I I I ] 3 ] X2 / ndf 2.869/5
1 I I I 11 I
Oi— + l i l 1 l 1 10__ Constant 13.96 +2.53
- I 1 Mean  -0.03501%0.11754
1000 |— B
— 8 !
C I sigma 0.7641+0.0974
2000 — g
E 6_
3000 — I
4000 '..'..'..'...'..'..'..'..!..'..'..'..'..!..'..'..'..!..'..'..'..'..!..'..'..'..!..'..'..'..'..!..'..'..'..!..'..'..'..'..!..'..'..'..'...'..'..'..'..! ar
o
-||||||||| ||||||| |||||||||

0
8 6 4 2 0 2 4 6 8



pm1X RMS (ppm)

corr_usr_b

(wdd) sy

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



corr_usr_b

0 < ) ) © o~ © <
® 3 = P 3 S
® o > I o
hal < 3 + 5 S
o =] i © 3 =]
+ H — > e + —
- - = + ~ 1
5 N © @
g 3 § g .
= S 2 o —
S =
? 3
H = -
3 m m <] m © —
c|s 8 8 § % ¢ 5 ¢ .
o s B 5 S %« 8 2 & =
= =
=1 —
£ =
= Z
= -
2 f ]
© [ . .
=] I E—
o —3
o ]
— =
b by b b by by by by b b by by
N o [ee] © < N o [ee] © < N o
~N N — — ~ — -
I
12
O N
~ N
™ ———
NN
; H———
[ee)
SN
N~
————
N
(92
Y—
©
< —_—
~
NP =}
== ey
Qo
Q.
(=8
~
>
—
1S ——
Q.
|
————i




pm1lY RMS (ppm)

corr_usr_b

_______
o
™

(wdd) sny

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



corr_usr_bpm16X (ppb) 1D pull distribution

- X2 / ndf 49.86 /51 1 Mean 0.008973 + 0.1358
4000 — pO 195.2 +113.1 F
- 14__ Std Dev  0.9792 + 0.09601
3000 ;_ : Underflow 0
2000 H 12 __ Overflow 0
L : X2/ ndf 5.165/6
1000 10 - .
S U BRI Ll T 1 e e
o l I ]I I I [ Mean  -0.1875+0.1725
E T I I 8 Sigma 1.033 £ 0.183
1000 — I
2000 f— o
3000 f— I
o e e el ar
3 i-i i
2E I
1B g L L gL L
0 L
-2 Ll b Lol il

0
8 6 4 2 0 2 4 6 8



pm16X RMS (ppm)

corr_usr_b

(wdd) sy

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



11
o [S)

1000

50
-500 —
1000

o<

g 8 ° ° 2 8 &5 B
N = o ] ht =]
° o 5 + o +
+ + ) o + ©
g 3 s 8 &
S 1
S T .
- & 3z . ¢ .
] 5] K] k] 8 a —]
5 [a} 5] T 5 1] H g
c 3 = B e 3 s 3 o ]
o = 4] =) o < () = n -1
W T — 7
= _\ ]
2 [ ]
2 =_——— ]
=1 -
o —
o ]
- -
P TN T T AN U T T T T S AN T S T T [N T T T T N ST T N ST S A
~ © 1) < ™ ~ = o
[ —— ]
— 7 —— —
n o —— —
~ . —— —
< —e— —
RN —— ]
—— —
oM _
s — e 3
. —— —
O ]
] - e _
— —
© —— —
c —— —
~ —— —]
8 —= -
—~
fe) —— —]
o —— —
(=1 —— —
~ —e—— 1
VI —l— —
[{e] —— —
— S N—— —
1S —e— —
o —— —
O ——— —
r_ —e—h —
(%2} —— —
> ——
r_ — —
— —— —
m —— —
— —
—— —
— —
—— —
—— —
—l— —
—— —
—— —
— —
—_ —]
— —
—— —
—— —
—— —
— —
L1111 _ 11 _T.l_.O_I_l I A

N <F
[N



pm16Y RMS (ppm)

corr_usr_b

(wdd) sny

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



< D o o had o © [52]
& 3 2 S 3 <
g 8 g 3 8 2
S ] 2 & s M ]
H H = M .ﬁ_ 2 n
o ~
5 A 5 ° E
> m 3 - € -1
o £ o <] s © —
c g S 3 T = 2 g E b
o s B 5 S %« 8 2 & E
= m
5 —]
2 e
s
- 1] .
R ——— —]
© L -
> e
o ]
o n
i .
Loy by by by by by by by by by by g by o7
< N <) ) © < [N o ES) © < ~ =)
N ~N N - - - - -
[ .|0|—|. ]
10 ® -7
Lo Rres r —
/1 -
~ — +——— —
)} b m
3+_ PY —
S 5 .
(®)] — —
L0 —
(o] ® T
o —
——t—— —
Y L 4 —
© —
c —
: : ]
20 @ —
mxp 1 o _
[ok -
o —
N—r @ p—
x P _
N —_— —
1 " p—
o ® —]
b_ P —]
—_ ® =
)] L 2 —
=) ® —]
_l m ]
S} * 7
o —
(&) Y —
° —
— —
° —
° —
—_——— —
Py —
" p—
_____________TTIl_lTTTT..TIl_lTTIl_..___________
o o =) o [S) o o o o  OOTNONSHOW
8 B8 8 B B 8 B8 8 oococ ocococo
~ — — | — =1 o~ [




pm12X RMS (ppm)

corr_usr_b

_______________ ________________._||

o Lo o Lo o Lo (@] Lo
[Fol < < ™ ™ N N —

(wdd) sny

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



corr_usr_bpm12Y (ppb) 1D pull distribution
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1D pull distribution
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